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Answer the Questions from any one Option.

OPTION -A
For Honours Generic/Regular
Paper : BOT-HG-3016/RC-3016
(Plant Physiology and Metabolism )

OPTION -B
For Honours Generic
Paper : BOT-HG-3026
( Environmental Biotechnology )
Full Marks : 60

Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A |
Paper : BOT-HG-3016/RC-3016 - SRR
(Plant Physiology and Metabolism) (@) Tosm o Tl
1. Answﬁ;;rT the following questions as directed : (b) R @ . ]
W ..ﬁ'ﬂm%‘zﬁﬁm: 1x7=7 oo i
()  Which one of the following statement is f )
correct when a cell is fully turgid ? | (d) I
(b) DPD = g ( ’ (iii) Which one of the following is not an
c) WP=g (ZCZ:r)o) o essential micro elements ?
(¢) .
(d OP-=g (zero) (a) Boron
T o @t o v FOE OB (b) 1Iron
T 12 (c) Manganese
(@) DPD = gp (d) Potassium
(b) DPD = :
(c)’ WPD R S firare @R CTA SRt S G
= | Ceekd
) Zan':lo f;f‘lt Proposed the transpiration pull (@) T
ascent O‘;s;‘;: "f)'orce of water theory for (b) EH
gj - Dixon apg Jolly (c) AR
Sir J, ¢ B
+ DO
() Noggle ang ;e o (d) BN
(d) Boehm
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(iv) Who first coined the term photoperiodism ?

(v)

(vi)

@) Curtis and Clark
() Gamer ang Allard
(¢) Miller apnq Skoog
@ Salisbu,_.y and Ross

g‘g”fﬁ sy T rsRERRE (AR
) 1 oiper iRfEET?

d ‘lhng o.f wooden doors and windows

rain .
h Y season in due to
P ienomengp, (Fill in the blank)

mﬁm%%mm RGN 2 PG
E%Wmm' (4 31 77 7)
®3-acetic acid is belongs to

grou
P of Plant growth regulators.
i1l in the blank
-3 (Fut )

R g e g ___ (157 O
(71 3T 979 )
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(vii) In Calvin cycle, how many ATP molecules
are required to produce one molecule of
(Answer directly)

glucose.
B 2 S B PR (A 5O (!
ATP G938 ACe | (erew TeF f7am)

Write short notes on the following: 2x4=8
(a) Importancé of osmosis in plants

(b) Role of phosphorus in plant growth

(c) Co-enzymes

(d) Vernalin

fReae empree 51 OFF frar e

(@) Tfere TFyfed ¥Y

(b) O e T g

(c) FZTLLHP

(d) STEH

Answer any three of the following questions :

5x3=15

(@) “Cell is an osmotic system”. Justify the
comment.

(b) Write notés on various agents of
biological nitrogen fixation.
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c) Theo
)
in stgn : t:ltGICh =* sugar interconversion
Opening and closing,.

d
(d)  Cytochrome Pump hypothesis.

(e) DeScr'
ibe
translocationMunCh hypothesis of

. %Wmﬁmg
() %W%w”—wﬁ@twaﬂu
9 Mﬁﬁ%ﬁ%ﬁcf@ o @R {few
(c) oty " T
WWWWW*W

(a ) [{

Answer qp
R
hree of the following questions :
este Ry Rty 10x3=30
™R Ty iRt ¢

e
System o?zymes ? Describe the modern .

Suitable ®NZyme classification with
€Xampleg, T 048=10

%{m
Rerem ;“fr@ﬁ*wwm wigRT @
With suitablgrt' Note on Kranz anatomy
diagrams. Describe in detail

e C,
Yele of photosynthesis. 4+6=10

3 (Sem-3/CBCS) BOT 130

()

(@

(e)
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| FAEIFRETT Cy 5F 360 34|

What do you mean by Cs and C, plants ?
Mention the differences between Cs and

Cs plants. 5+5=10
C, s G, U1 T & @i ¢ W G
Biewe were 29 AR Fiferm 31

Give an schematic representation of
cytoplasmic respiration. Describe how
oxidative decarboxylation of pyruvate into
Acetyl Co-A. 5+5=10
i TR A (b e Torgiem
| ST i R i) siiRsfes «foes
ol @A “gfobIZe & RN 97

(Acetyl Co-A) TS T If1 3 |

What is auxin ? Discuss the physiological

role and functions of auxins in plants.
' 2+8=10

R e TET SfmR *F ReAPE
mﬁaﬁﬁﬁﬂn R

t do you mean by photoperiodic

What ¢ D 1 by
induction ? Describe in detail the
mechal’lisn'1S of photoperiodism. 2+8=10

WWWWW%W?WW afsfEiR
siferdl ﬁ@ﬂ%@ It 31 31|
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Ans
Wer the following questions :

OPTION -B
Paper : BoT-HG-3026

( Envirg
NMental Biotechnology)

1x7=7

Wﬁmmﬁa%ﬁms

(@ N
Ame one secondary pollutant.

)

()

(d)

(e)

Name
a .
Assam_ Ramsar site of the state of

P B g g A

Nam,
in th: f(: r;e NGO from Assam that work
eld of enyironmental conservation

a‘ndeCOIOgY.

it :

Wm:mmvﬁmﬁwmm
B oy Tz A B

OXygen,

What is e g e |
COD the full form of COD? '
T ot g

10 reduction in the dissolved
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)

(9)

Write short answers :

From which district the Chipko
Movement started ?

i i o o wiwem wie (e

Where is the headquarter of United
Nations Environment Programme (UNEP)

situated ?

igicea ARG FEBR (UNEP) T4 Pew
F© SFO?

2x4=8

WS s T fual ¢

(@)

(b)

(c)

(@

What are the various components of acid
rain ?

afpe g Rfen Tomm & Ree
Write two disadvantages of trickling filter.

B RO 70 SR By

What is air quality index (AQI) ?
e el PRI (AQI) R
What is environmental ethics ?

AR ool e
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3. Answer any three of the following: 5%x3=15

s Rt fofisre veg fri 2

(@ Give a brief account of indoor air
pollution,

IR oo 1y e vy Reewt fom

(b) What are the effects of increased carbon
footprints ?

T RS 3 eror 5 e

What are the positive and negative
mpacts of trade on the environment ?

ARER @51 e 20T S @A
AOR F o

(c)

(d)

D ; .
ffscr%be the process involved in an
oxidation pong,

SO {38 wfvs aifrat T 4

gtate. the functions of the Central
ollution Control Board.

ﬁm‘*ﬁqumw&%@ﬂwn
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4. Answer any three of the following : 10x3=30

mf@ﬁwmmm:

(@)

(®)

(d)

What is greenhouse effect ? What are the
major greenhouse gases ? State few

measures to reduce emission of green-

house gases. 3+2+5=10
v oy doH 52 8 oTow oz o R
e Give 7 O Wl gm7 79 A Regw
7 S F

State few major causes for environment
movements in India. Give an account of
the Narmada Bachao Andalon. 4+6=10
TS AR SR [P 2ai e T
71 | Tt e HTwie [7gd )

Give an account of International NGOs
that work in the field of environment.
10

AR (RIS T I ST o o o
el fat

What is Kyoto Protocol ? Describe the
salient features of the Kyoto Protocol.

2+8=10
RS dFe R AR olbeem By
MR 3 =N
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(e) What is bioremediation ? Give an .
account of molecular approaches in

bioremediation_ v 2+8=10
R SR (AaRiforms) B¢ e eifeiee
R oo Reet faat |

() Give an account of the Rio declarations
on environment and development. What

were the important outcomes of the Rio
Earth Summit 1995 7 7+3=10

AR 1% S gope Rera AT

LR S

—————
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